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SYDNEY BOYS HIGH SCHOOL

MOORE PARK, SURRY HILLY
Year 9

Yearly Examination 2009

Advanced

General Instructions
Working time — 90 minutes
Write using black or blue pen.
Approved calculators may be used.
All necessary working MUST be
shown in every question if full marks are to be
awarded. .
If more space is required, clearly write the
number of the QUESTION on one of the back
pages and answer it there. Indicate that you have
done so.
Clearly indicate your class by placing an X, next
to your class

NAME: cocorernnrnarerannnnannnnens s

‘Class Teacher
9A Mr Kourtesis

9B Ms Nesbitt
9C Ms Ward
9D Ms Roessler
9F Mr McQuillan
9F Mr Boros

9 G | MrHespe

Mathematics

All answers should be presented in simplest
exact form, uniess otherwise directed.

Marks may not be awarded for untidy or
badly arranged work. :

Examiner: 4. M Gainford

Question 1. (18 marks)

<Question Mark
1 /18
2 /18
3 /18
4 18
5 /18
6 718
7 /18
Total /126

Answers
(a) | Find, correct to 4 decimal places: )
()  sin4622' (i)  tan84°12' (i)
2]
(b) | Express 0-0064045 in scientific notation, correct to four
significant figures. :
{11
(c) | Arrange this set of numbers in order, smallest to largest:
11 = 1
T V3, (0 66667)
2]
(d) |Ineach case find the acute angle & correct to the nearest minute: @)
(D cosf=0:9 (i) tand=25 (i)
2]
(e Express J45 20 asa simple surd.
2]
(f) | Simplify the following expression:
4
6(2")
Gy
(2]
(g) | Express in simplest surd form
@ 2475 ~3./48 ®
. 6v2 x/6 1
& W3
[2]
(®) | Bxpand and simplify (3¥— 2)-2(x+2),
12
(i) | Ata Sydney Swans match in Sydney there were five men to every
two women. If 31 514 fans attended, how many men were there?
{11




Answers
() | A certain quad scull races at 18 km/hr.
(i) How far will it go in 2 minutes? @
(i) How long, to the nearest second, will it take to race 1100 m? | (ii)
[2]
Question 3 (18 Marks)
(a) |Two ordinary dice (6 faces) are (i)
rolled, and the uppermost faces
noted.
(i) Use a grid or table to show all
possible outcomes.
(ii) What is the probability of a (ii)
double? : :
(iii) What is the probability that (iii)
the sum is 7 or 11?
[4]
(b) | Consider the line with equation 2x—5y+10=0
(i) Statethe gradient of the line. M
(i) State the y;intercept of the line. (i)
(iii) State the x-intercept of the line. (iid)
(3]

Answers
(G) | Solve forx:
4(x+2)-3(x-1)=23
2]
Question 2. (18 marks)
(&) | A letter is chosen at random from the word KATOOMBA. 6]
‘What is the probability that the letter is:
' | GD
) A (i) aconsonant (iii) Z
(iii)
[3]
(b) | Factorise completely:
@) 9ab® —6a’b (0]
(i  4-36 (i)
3]
(c)- | Find the volume and surface area
of the closed rectangular prism,
where measurements are in Volume =
centimetres.
SA =
[4]
(d) | Factorise
()  #—6x+8 )
() 8x?+18x-5 (i)
[4]
(e) |Findzx, correct to 3 decimal
places.
x
[
[2 10




Answers

© 5cm
N
b 20°
L 700 M
5cm
(1) State which test you would use to show that these two (i)
triangles are congruent.
(i) Find the value of the pronumeral, correct to 2 decimal
places.
3]
(d) {ABCD is arectangle with sides 6
cm and 8 cm, AX and CY are A 8cm B
drawn perpendicular to BD. .
\ Y
Find the length of X7. 6cm
X
D C
(3]
(&) |A card is drawn at random from a regular pack of 52 playing cards.
®
State the probability that it is:
(i
® Red (ii)  aspade (iii) aking
(iii)
(iv) ared ace (v)  either a seven or a black queen
@)
(5]
)
-5

Question 4 (18 Marks)
| Answers
(a) |Use the diagram to answer the following:
D
M
K C
L B
i i A ¥
H
E
J G

(i) Find the gradient of HD. @)

(i) Find the gradient of FH. (i)

(ifi) Find the gradient of HM." (iit)

(iv) Find the length of 4K (as a surd). (iv)

(v) Find the mid point of LF W)

(vi). Write the equation of the line FH. (vi)
[6]
(b) | Anita is five times as old as her son Bill. In fifteen years time Anita

will only be twice as old as Bill. Find their present ages.
[2]
(c) |Factorise the following expression completely:

=y +5x-5y

[2]




Question 5 (18 Marks)

Answers
(d) | The diagram below is a rhombus.
A .
B ®
D C
6) Prove that the diagonals bisect the angles at the
vertices.
6]
(ii) Hence, show that the diagonals are perpendicular.
Give clear reasons for each step.
(5]
(e) | Solve
20+3 a-2 a-1
2 3 4
[2]
+1
© Make x the subject of the formula y = z_—
[1]

Answers
(a) |Simplify, and express with rational denominator:
1 1
BB Th
(2]
(b) |The Venn diagram shows the
papers (Herald, Tele, Mx) read A
by a class of 30 boys. A boy is
chosen at random. State the v
probability that: )
@ He reads the Herald
(ii) He reads the Tele and (ii)
Mx, but not the Herald .
(iii)He reads exactly two (iii)
papers
(iv) He reads no paper @iv)
[4] ‘
(¢) | A canoeist paddles due west for 1.5 km, then turns due south and
covers a further 800 m. How far (to the nearest metre) and in what
direction (true bearing, nearest degree) must she travel to return Distance
directly to her starting point?
Bearing
[2]
(d) |Calculate the area of a right-angled triangle with hypotenuse 8 em,
and an angle of 50°, correct to 2 decimal places.
2]
(e) | Solve this set of equations simultaneously:
x=
3x—y=11
x+y=1
y=
12]
() | From a lighthouse 70 m above sea level a ship is sighted 1.2 km out
to sea. What is the angle of depression from the lighthouse to the
ship? (Answer to the nearest minute.)
[2]




[ Answers

@® . s x242x-8
Simplify x2+8x+16
[2] :
(h) | Sketch the solution set of the inequations on
separate number lines. < , »
(i 2x-3<5
() —2(3-2x)<4
[2]

Question 6 (18 Marks) ‘

Answers
(d) | A British 50 pence piece is based on a regular heptagon (7 sides).
Find the size of the internal angles.
1
() |On the number plane below sketch the lines 3x—-2y =6 and
y=—1x+3.
A
G — —t————p
A
2]
(f) | Use either the elimination method or the substitution method to
solve the following system of simultaneous equations:
Tx+3y—4= 0}
5x+2y-3=0
[2]

(a) | The bases of two ladders are the same distance from the base of a
vertical wall. The longer ladder is 15 m long, and makes an angle
of 58° with the ground.
Ifthe shorter ladder is 12.6 m long, what angle does it make with
the ground? (Nearest degree)
[2]
(b) |Find the general form equations of the lines:
@ Paralle! to the line 3x+4y—2=0 and passing through | (i)
the point (-3, 4).
(ii) Perpendicular to the line 3x+ y=4 and with x-intercept | (i)
at-3.
[4]
(c) |By the use of an appropriate
construction, calculate the area of this
triangle, correct to one decimal place.  12¢m 12cm
[2]
-9
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Question 7 (18 Marks)

Answers
(g) |Sketch on the number plane the region where the inequalities
x—y<2 and 3x+y23 hold simultaneously.
A
< P

(2] A
(h) c @ Given that AB|| CD, prove that AABX [| ACDX

(giving reasons).

(ii) Hence find the value of y.

(Measurements are in cenfimeters).

13]

-11-

Answers
(@)
A
€0, ¢)
A(a, 0) B(b,0) ©
The diagram represents any triangle. An altitude of a triangle
passes through a vertex and is perpendicular to the opposite side,
produced if necessary.
(i)  Sketch the altitudes BM (M lies on AC) and AN (N lies on
BO).
(iiy ~ Write down the gradients of BM and AN. (if)
(iii)  State the equations of the lines BM and AN. (iif)
(iv) Find the co-ordinates of the point of intersection of the (iv)
altitudes BM and AN.
[101 {(V) What geometric result is proved by the above? W)

-12-




Use this space if you wish to REWRITE any answers

Clearly indicate the QUESTION number.

Question

Answers
(b) | The figure is a cube of side 6
cm.
(i)  Find the length of the Q)
body diagonal CE.
(Correct to 2 d.p.)
(i)
(ii)  Find the angle CEG to the
nearest minute.
1141
c ABC is any triangle, CD is an altitude, and X'
)
and Y are the midpoints of 4C and BC
C respectively.
Prove DXCY is a kite.
X Y
A D
[41

This is the end of the paper.
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Use this space if you wish to REWRITE any answers

Clearly indicate the QUESTION number.

Use this space if you wish to REWRITE any answers

Clearly indicate the QUESTION number.

Question

Question

-15-
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: e Answers
Question 1. (18 marks) : 0] Solve for x:
4(x+2)-3(x-1)=23 .
Answers = | 2
- U 2:2% x =
(a) | Find, correct to 4 decimal places: o123 Y 2
y (2] x4 JI = 23
(@  sind622 (i)  tan84712 D9 4 4-of . ) ‘
[2] 9 Cg Question 2. (18 marks)
(b) Express 0.0064045 in scientific notation, correct to four . . . : ,
significant figrres, Los 0—3 (@) | A letter is chosen at random from the word KATOOMBA. @
: x |0 What is the probability that the letter is: '
1) . ) ()
(c) | Arrange this set of numbers in order, smallest to largest: 2 oLttt ‘ @H 4 (i) aconsonant (iii) Z
H/k\"‘ \.(5’&2.,,(,,2.1, \_aﬁe-" N TT/% 3] ‘ (i)
\ 11 - . a
{*‘7—, 7—21-, A3, (0 : 65567) ‘} ) / %:}- - (b) | Factorise completely:
|21 ‘ JE - :
- . ; ()  9ab*—6a% ®
(d) |In each case-find the acute angle @ correct to the nearest minute: ® 25757
N g 3 . o, 0 .
- ) cosf=0-9 (i) tand=2.5 eg 12 i) 4y 36 ) i)
O] ‘Bxpress «/4_5_ —Jiﬁ as a simple surd. 3 h
p [3]
12] m ~Jurs = 3 G - % ‘[Z = \[-;‘ (c) | Find the volume and surface area
- Simpli th. TP F—— of the closed rectangular prism, .
® implify the fo me% expression: Lot g Z A where measurements are in Volume =
6 (xyl) x a,- = _,né—— centimetres. :
2] 2
3x%y) A < kX4 . .
2] ) 9= SA =
(g) | Express in simplest surd form - i 4]
0 oT5 WA = 2#5NE - 3eu T z0fia2d32|() — 2 'E} (@ | Factorise
) x* —6x+8 @
I E N A S R = |®03 o )
@ a3 = '—T_ g G)  8x*+18x-5 - » an
| 4] L
[2] ' (e) | Findx, correct to 3 decimal
laces.
() | Expand and simplify (3x=2)~2(x+2), . P
g 7~ 2 ""l’/{ - L)L‘ = . ot é 7 .
[2]
(i) | Ata Sydney Swans matchin Sydney there were five men to every . : .
two women. If 31 514 fans attended, hov;r many men were there? 2] : 10
: z:e/;’:; x5 = 22570
[1] - *’f




200 700

Question 2, (18 marks) . L (m)
. 7 = /
(a) | A letter is chosen at random from the word KX‘T&QMB){. z @ 7 4« =~
What is the probability that the letter is: 4., L @
. 4 » B
® (it} Jam cgr‘;lsgr\lpant i) z i) 9‘. _ O Q
[3] 8
(b) | Factorise completely: ; (f":
@ sat-6a» = Sab <5b - A 9"> E)j
A . X } Q’
G) 4°-36 = 4(5‘%" 4(&&% 35 )
3] |
(¢) | Find the volume and surface area
fthe closed rect fsm, :
here merscromens o Votume= |00 o
centimetres. :
sA=,Q7<QX5+2"<5¥ 10
4] + ,Q/% ?J"O =
(d) | Factorise ! 1 y
@  P—b6r+8 = (3’-“4 (e =) @ )
($o8 -2
@ Feeens T e (i)
40 o)
[4] o &W___gﬁé/ |
(e) |Findx, comrect to 3 decimal o 4,
places. JC,GJY\-LF/L =70 o
! =10 tandd
p
! x. = Q004
2] 10
7 .,?.J% km = 2 hu,n/J
_ @ | A certain quad scull races at 18 ldn/hr. énswers
() How far will it go in 2 minutes? © ‘%‘ ko ( Q<41
( ds 0
| (il) How Igng, to the nearest sécond, will it take to race 1100 m? (i) 2/2;0 S(,COI’) AS (D
I A O | 4 puns 40 L

Answers
(f) | A certain quad scull races at 18 km/hr.
(i) How far will it go in 2 minutes? ®
(ii) How long, to the nearest second, will it take to race 1100 m? | (ii)
[2]

Question 3 (18 Marks)

() |Two ordinary dice (6 faces) are (i) .
rolled, and the uppermost faces
noted. P2 54 S ('-z
a |
g
(i) Usea grid or table to show all = __| \
possible outcomes. -~ "
. @
(ii) What is the probability of a [, (i)
double? I s e WS A
.."‘"f ‘/“
(i) What is the probebility that - (i) 5%0 = @
the sumis 7 or 119 [9:‘- 3
[4]
(b) | Consider the line with equation 2x-5y+10=0 7
SRS, LV, L= X
(i) State the gradient of the line. S\O = 2Ll O g °°
_ L~ ,
(ii) State the y-intercept of the line. &\i) S g ), @ L
(iif) State the x-intercept of the line. (iif) . 5
3] :




~

Answers -
(©) 5cm
NN
b 200 q
.
L\ o AAS,
5cm
(i) State which test you would use to show that these two (i) 70 = i/:-
triangles are congruent. ) \lj
(ii) Find the value of the pronumeral, correct to 2 decimal = 2 )
places. : (’5"370
[3] - ’
5“‘ H‘F‘ 06 J .
(d) | 4BCD is arectangle with sides 6 '
cm and 8 crm. AX and CY are A 8 cm B ‘}‘>‘&7:/6*;"-=-/0
drawn perpendicular to BD. 1 GRS B
Y 2L
i ¢ Ax w &L
Find the length of X7. 6cm <.
/1
© 7 _ LL
DX = 6 L
p ¢ O~ ':g
1y
[3] ,J( 7';, 3’“ ARy
(e) | A card is drawn at random from a regular pack of 52 playing cards. L '
@ =
State the probability that it is: j
. (i) T
@ Red () aspade (i) aking \
) @ 53
(iv) ared ace (v)  either a seven or a black queen ]
» (1V) zé
[3] : 3
) =
) 26

Question 4 (18 Marks)

l Answers
(a) | Usethe diagram to answer the following: 3
Y o
A D
) [ M L
- < N i i
) ) K C !
U L . N B
S :
T X
1 A
! AOVE|
| f 2 G 1B
I ] ; S EGE
! NENRE
! S e
' 7
(i) Find the gradient of HD. (6] LIL
g
(#) Find the gradient of FH, @ - 25‘/_
(iif) Find the gradient of HM. (i) vndefinec
(iv) Find the length of AX (a§ a surd). @ 5\5 s
(v) Find the mid point of LF"  C ‘g‘f\ )
(vi). Write the equation of the line FH. (vi)
= T2 T =gy -y
4 S| ¢ 3 R o -3 %
A =0 F -
Lyt JE e "¢
(b) | Anitais five times as old as her son Bill. In fifteen years time Anita
will only be twice as old as Bill. Find their present ages.
) ¥ \S -~
Lt 51 6‘?(_(4& A N e ‘le 5
2 OIS 2w+ 3B N=§
(c) |Factorise the following expression completely:

2

X =y +5x-5y

Dur‘j)()w»j) + S”(x»j) < [xfﬂf—‘i‘)(x ~v1)

_6- -




Answers
(d) | The diagram below is a thombus. '
o
@) Prove that the diagonals bisect the angles at the " Frona Q‘ ) wRe hoat-
vertices. Fouy Q—)v\ﬁru,wj‘ 0%
(i) /p e =t -
(i) Hence, show that the diagonals are perpendicular, L P:/jé B: 4‘_34( ;l; D
A+ ZDEn = 3
Give clear reasons for each step. C V\f)‘“ ko
5 P+
Bl e d‘o«.ﬂcv&(& ore
(e) | Solve —
2a+3 _a-2_a-1 So= —29 +
3 4 | - — 29
a = i
@(10\4_3) t(a~2) = da~3 s
(21 lAa+ g~ Yo 49 = De~3
© Make x the subject of the formula y = i
Y- Y- =0 “’CC\“ED = -
S— WY = —Y—| VO
[1.] (0 :’) M= _U_“__K._
=
) )
(émb\‘
= Yl
Y-
W(d) leh £B0D = X
£.8D0 =L C\SOS 69
LBbes £anD (eqalbss, pr)de)
WA
ool L DRCE L ADR = (e7 alt Lo ,m&)) pc)
; A

S\\N\‘\\O\,\/‘M -COY" <DPFB ol (/ DCB

NS Mo OVCU(S '
bivecdk 2o ot

LR




Question 5 (18 Marks)

Answers |

(2) | Simplify, and express with rational denominator:
1 f

N
(] :.:l\/‘g'*ré"ﬁ

%15 +E

(-2 B+i3

EE

(b) | The Venn diagram shows the
papers (Herald, Tele, Mx) read
by a class of 30 boys. A boy is
chosen at random, State the
probability that:
@ He reads the Herald
(ii) He reads the Tele and

/5\
v/
&

Mx, but not the Herald
(iii)He reads exactly two
papers
{iv) He reads no paper

4]

L.2

(l) o 15
wi=5.

(iii) '%o /2.
® Fap= Yo

(¢} | A canoeist paddles due west for 1.5 km, then tums due south and

direction (true bearing, nearest degree) must she travel to return

directly to her starting point? -
1500 ., V0% +iSos? = 100

g
u:l___S_Q_Q_, o= p2°
ton 555 -

(2]

covers a further 800 m. How far (o the nearest metre) and in what

Bearing G (QQ—‘

and a

x = oS50

N2

a "7'
2 8

(d) |Calculate the area of a right-angled triangle with hypotenuse 8§ cm,
dngle of 50° correct to 2 decimal places
= K INS0-

Azdsy= i@eos%o/\(&sm@

(e} | Solve this set of equations stmultaneously

A I O~9c)

x+y=]
4_'%*‘ ‘2

2 2=3 3“

to sea. What is the angle of depression from the lighthouse to the
ship? (Answer 1o the nearest minute,)

i
(21 I e

(f) | From a lighthouse 70 m above sea level a ship is sighted 1.2 km out

2°20

1200

o _ 0y’
1260 11 = = A" 24
o[ e gt 3

[5Tbcm

AR el

— 5

Distance | 70:>f B

| Answers
Y xP4Ex-8 '
® Simplify XT4BxH16 (x"zw . Sy 2
. 4
| (ocra mras e+

12]
(h) | Sketch the solution set of the inequations on .

separate number lines. 4—@?’“’-@——4—»

¢ L
() 2x-3<5 9295’4?)9 4. 3> 4 5
o) «

@) —2(-20)s4 (7 ~2x¥ Q a3
2] 2 -2t 7 A x £ 5/&
Question 6 (18 Marks)
(a) | The bases of two ladders are the same distance from the base of a

vertical wall, The longer ladder is 15 m long, and makes an angle

of 58° with the ground.

1f the shorter ladder is 12.6 m long, what angle does it make with

the ground? (Nearest degree) -
[2]
(b) | Find the general form equations of the lines:

(i)  Parallel to the line 3x+4y—2=0 and passing through | (i)
the point (-3, 4).
(i) Perpendicular to the line 3x-+p =4 and with x-intercept | (i)
at-3.

(4]
(c) |By the use of an appropriate

construction, calculate the area of this

triangle, correct to one decimal place.  12¢m 12em

/
[2]
-9-




] o[r.)

| Answers

@ . . x24+22~8
Simplify x248x+16

[2]

(h) | Sketch the solution set of the inequations on

separate number lines, < : >
() 2x-3<5 ' ‘
(i) —2(3-2x)<4

[2]

Question 6 (18 Marks)

(a) The bases of two ladders are the same distance froni the base of a

vertical wall, The longer ladder is 15 m long, and makes an angle
of 58° with the ground.
If the shorter ladder is 12.6 m long, what angle does it make with
the ground? (Nearest degree)
. ( SRR
Coos2=2% ©=ler 795
s 120
N~ 1sLeasq = 7‘/‘§ v
[2] . = 50.2° 0
S
(b) |Find the general form equations of the lines: i
@ Parallel to the line 3x-+4y—2=0 dnd passing through | (@ 3 X{ytﬂj ~7=0
the point (-3, 4). [ EI, s 24
e B
EI Y- 2g (2 +%) )
(i) Perpendicular to the line 3x+y =4 and with x-intercept @i
: . - o4 .
at -3. m,= =3 My T x-gj L350
U o= 4 ( % +3 .

" J = 5(2r3)

(c) |By the use of an appropriate :
construction, calculate the area of this - a9
triangle, correct to one decimal place.  12¢m 12em A= 5.0 0.5

{ 5z
i n b ; Thi . =5§ (€
= 12505, 10, X
C@ﬂ(ﬂ{’ %x{ fQ €8 . r:» SS.Q CI‘V\(
2] ; e W= S0

Answers
(@) | A British 50 pence piece is based on a regular heptagon (7 sides).
Find the size of the internal angles. R
¢ Y
7 Sides — 54‘&\4&/!5!\64 1295
LB3wn ST IRV = do o .
" eah angle 990 T
(¢) | On the number plans below sketch the lines 3x—2y=6 and
y=—tx+3. :
<ttt
A \;
[2]
() | Use either the elimination method or the substitution method to
solve the following system of simmltaneous equations:
®7x+3y—4=0} Or2 gxt+Ly-87 © (/) ’/)
(D sx+29-3=0] B« > [5X+ 77~¢/: &)
@ ~ s = A= {
+ 3y —4=0 Y =7
2] O T+ Y

-10-




Answers

altitudes BAM and 4N, \o<0
P e R4 C
oy=2q  Y=AMeT | &(xmh)= (x-e)
NI -

Ca:x- obp= b?i— ab [—(‘5—::;’5\0:\

s
S

. o [10} |(v). 'What geometric result is proved by the above? )

(&) Sketch on the number plane the region where the inequalities Question 7 (18 Marks)
~y<2 and 3x+y23 hold sinmltaneously. A
% . . Answers
@
Xy -2 T +Y
j \ C(o.
\ .- y _2b (0, ¢)
.\\\ ¢ . - N
G — o
| | LN
‘ / \V, A(2,0) - Be0) X
A | ’ .
: % The diagram represents any triangle. An altitude of a tri;lngle
2] . passes through a vertex and is perpendicular to the opposite side,
. et A5G, prove that ABX ACDX ) produced if necessary. .
6] Given tha , :
(giving reasons). )  Sketch the altitudes BM (M lies on AC) and AN (W lies on @
In « s 8xXA *"C"D% > BC). .
= Vert. o
2?; f Lf;;i ((A | +F Lo BA ) cl;) (if) Write down the gradients of BM and AN. (ii)
D ( m - e = M = .
eaviarn V\fu' ) A = T & Bm c. @
o ORI EXD (=9 2 Meae =~ = Mgy= &
(iif)  State the equa‘ﬁons of the lines BM and AN, : (iif)
.| Gi) Hence find the value ofy. Bm: u= 2(x- b)
(Measurements are in centimeters). ) .
Y . A AN = 2 C_')L - CL) ,
7 = - (iv) Find the co-ordinates of the paint of intersection of the iv)
I

The altifudes of - Mowa/ea ore
o etreint

~-11-

S12- -




Answers
(b) | The figure is a cube of side 6
cm. _ / c
()  Find the length of the ®
body diagonal CE.
(Correct fo 2 d.p.) ‘ @
= \STZ_ = 6{z
N @C‘) )
() + 6 = ECs Jm 0. @i
(ii)  Find the angle CEG to the
nearest minute. ~
2 el __62_, = —\— —_— E- = 35 '6
tom cEa= B > R = 9.
A 1 A
~ ncEa = o =) CEG=
[4] Jiot
(©) ABC is any triangle, CD is an altitude, and X
and Y are the midpoints of AC and BC
respectively.

Prove DXCY is Aa kite. ( W\,Ozwj Wb

X ] As CW"‘JQ‘“‘““"& Mf’“ of foe “*GQJM/G‘”DV‘Q(M
of ol & o /] A fiiel sdle)
Acxy (eAs (o of sidie oleondt nelincled oo}

= c\/:gg=1:2 L.oemied = 132
7 o Cm o= BN
<[4] DY 2CPn a0’ ( cortap, arglun txy// AB)
T oltagevals o & Glod. Decy an’ pefpueciles

This is the end of the paper.
pxey 1s aledde

/ A te \s a Woﬁﬁlw vt boﬂm

\ Coers OL &A)am\ﬁ‘r sacles %MJ
Nig —-- m edcm Ract.

ey =B
Sine e®= pm (civg),
o =7 P
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